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1| @EsW 91.3 3.1 0. 04 1.40
2| ISF™ 4.7 2.4 0.10 4.17
3| MAET 100.0 3.5 0 0
4] MR 96.0 1.1 0 0
5| &FII™ 73.1 2.1 0 0
6| PFIK™ 73.3 2.5 0.16 6.67
| =K 75.0 2.0 0 0
8| Z=ifmh 100.0 0.9 0 0
O R imHET 100.0 3.3 0 0
10{  ERsHET 100.0 3.3 0 0
11 EBRAT A A 0 0 0 0
12 & FHT 94.7 2.2 0 0
13| #LET 100.0 1.7 0 0
14  FREHET 66. 7 1.7 0 0
15| Uk HT 100.0 0.9 0 0
16|  EIKHET 100.0 2.4 0 0
17 BI5HE 75.0 6.8 0 0
18|  HATXHT 100.0 3.6 0 0
191 Jdt ST 13.17 1.9 0 0
20( ES{EHT 91.7 2.0 0 0
21 Hx %5 HT 80.0 3.5 0 0
22| E#RHET 63. 6 3.1 0 0
23| DB EH 100.0 2.1 0 0
24| WA & LHET 90.9 2.9 0 0
mER 86. 8 2.6 0.03 1.10
® E 76.6 2.2 0.03 1.18
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